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Read the following passage, then answer the questions.

The Hubble Space Telescope is surely the most popular satellite
observatory ever. Its stunning photographs of nebulae, distant
galaxies and disks around stars have graced the front pages of many
newspapers for almost 20 years. Launched in 1990 from the space
shuttle Discovery, the spacecraft is about the size of a double-decker
bus, 13 m long, 4 m across and weighing 11000 kg. It carries an
astronomical telescope whose mirror is 2.4 m across and a suite of
cameras and electronic detectors that are able to take crystal clear
images, in visible and ultraviolet light and the infrared. Hubble's
power lies in the fact it is located above the atmosphere so its
photographs are not blurred. Now getting old, Hubble's fate is
uncertain. NASA may upgrade its instruments but that would require
a manned shuttle crew, or it may terminate its programme and

either rescue the craft for posterity or crash it safely into the ocean.

1. The most suitable title for this passage is ..........c.c....... .
1) The Space Shuttle
2) The Hubble Space Telescope
3) The Photographs of Nebulae
4) The Popular Satellite Observatory

2. The word “Launched” probably means .................... .

1) built 2) sent 3) found 4) used

3. According to the passage, the spacecraft is as big as a) ................... .
2) plane
4) double-decker bus

1) space station
3) aircraft

4. According to the passage, all of the following were carried by the
spacecraft except .................... .
1) double-decker buses 2) cameras

3) electronic detectors 4) an astronomical telescope

taken by the Hubble are not blurred

because ................... .

5. The photographs

1) it is launched from the space shuttle

N

) it is located above the atmosphere
3) its mirror was replaced by the new one
)

4) it is the best and latest telescope

6. The word “terminate” can be replaced by ................... .

1) start 2) improve 3) stop 4) upgrade

7. According to the passage, all of the following might be NASA’s
plan for the Hubble Space Telescope except .................... .
1) to terminate its programme  2) to upgrade its programme

3) to crash it into the ocean 4) to rescue the shuttle crew
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1. laag 2) The Hubble Space Telescope
ﬁaLiaawmm"ﬁwa@mwmﬁam @9 “The Hubble Space
Telescope”
The Hubble Space Telescope = naaﬂw?miﬂummﬂauma
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1) The Space Shuttle = NTEAIEDINE
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double-decker bus = FnUsyavadastis
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1) space station = gnfaImet
2) plane = m’%'aaﬁu
3) aircraft = 2NN

double-decker buses
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it is located above the atmosphere
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1) it is launched from the space shuttle = ﬂugﬂﬂa‘aamn
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to rescue the shuttle crew
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1) to terminate its programme = qu,t,wmmmmﬁu
2) to upgrade its programme = UNILFULNBNUVDIN
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